NDA 12025

MATHS

BINOMIAL THEOREM

M c o s - 'NAVJYOTI %R‘
| A rack




v g -
o)o

v N =
@ —

05 Feb 2025 Live Classes Schedule

( 05 FEBRUARY 2025 DAILY DEFENCE UPDATES  @@IAZIIVEL
SSB INTERVIEW LIVE CLASSES
€YY  (OVERVIEW OF GD & LECTURETTE ANURADHA MA'AM
AFCAT 12025 LIVE CLASSES
MEIIDYD)  (STATIC GK - RAMSAR & LAKES IN INDIA DIVYANSHU SIR
JCEIIDD)  (ENGLISH - IDIOMS & PHRASES - CLASS 2 ~ ANURADHA MA'AM
JSEZD ( MATHS - MENSURATION 2D - CLASS 1 ~ NAVJYOTISIR
NDA 12025 LIVE CLASSES
( MATHS - BINOMIAL THEOREM NAVJYOTISIR

l';/PHYSICS - MAGNETIC EFFECTS OF ELECTRIC CURRENT NAVJYOTISIR

MEIDD)  (ENGLISH - IDIOMS & PHRASES - CLASS 2 ANURADHA MA'AM

CDS 12025 LIVE CLASSES

( PHYSICS - MAGNETIC EFFECTS OF ELECTRIC CURRENT NAVJYOTI SIR

::ENGLISH - IDIOMS & PHRASES - CLASS 2 ANURADHA MA'AM
n’fMATHS - MENSURATION 2D - CLASS 1 NAVJYOTI SIR

i

) CALL US: 080-69185400 P> Soogepiay || ROWNLOAD FR



NDA 1 2025 — REVISION - LIVE CLASS — MATHS

QUESTION

In the expansion of (1+ x)? (14 x)9, if the

_ PYQ -2024 -1l
coefficient of x° is 35, then what is the
value of (p+q)?
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(M)(M—/)(/uz-z) = 3513
At pH = A
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QUESTION

What is the remainder when 7" -6n is

divided by 36 for n=100?
(@ O
(b) 1
(c) 2
(d) 6
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PYQ-2024-1I
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QUESTION

What is the coefficient of x'° in the

5120 , 1Y?
expansion of (l—x ) (Z—x —-—2) ?
X

- -4
= (1-2) [ (-1) 5(11 *f»')

PYQ - 2024 -

(b) 1 _
© 10 N / R
2
= | /-X A- L _
(d) Coefficient of x'* does not exist (I ) 1) (7( _L) = 4 1" ,.L -2

- (/—l’)zi (xl-f)"o

x"‘lo




NDA 1 2025 — REVISION - LIVE CLASS — MATHS

- o
o (/-12)20 o _ -—7(”(/-12
L
_ _110 (/_ /0(, (I‘)-} Iacz (I’) _ 0C3 (2'
W, o
- /o




NDA 1 2025 — REVISION - LIVE CLASS — MATHS

QUESTION

. If the 4th term in the expansion of

n
(mx+-!-) 1S g-, then what is the value
% .

of mn?

(b) 3
) 6 ' q
@ 12 .
n-3
5 = CJ mM
q

PYQ - 2024 - |

| " - 3
(a) -3 7’7' 3 C3 (mz) (-é—)
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n-6 =0 pon = bxL =
(n=6) 4
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What is the coefficient of x3y? in (2x + 3y?)°?

A. 240

B. 360

C. 720

D. 1080

-
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What is the coefficient of x3y? in (2x + 3y?)°?

A. 240
B. 360
C. 720

D. 1080
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12
x\/;_ 3 )—?
3 y/x)

A. C(12,7) x3y~3 humber of fems = Rt/ =13 (oa/c!)

What is the middle term in the expansion of (

B. C{12,6)x%y~ middle Fero :(.’éi!. )ﬁ) form = 7% e,
C. C(12,7)x3¥y-3

2
D. C(12,6)x3y "3 7} : IZCG (Z_‘/f:) ‘(”‘ dj{%}.‘)é
3 1
- Ry 1Py-3
¢ P
= C(/Z,G) 154-3
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xJy 3 ,
3 _yﬁ) |

What is the middle term in the expansion of (

A. C(12,7) x3y3
B. C(12,6) x3y~3
C. C(12,7)x3y"3

D. C(12,6) x3y-3
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The coefficients of x™ and x" , where m and n are positive integers,

in the expansion of (1 + x)™*" are

m+
A. equal mm M+ M 1) 7Y
- (14 +1) [+ Cd+ (s X
. . / 2 méD
B. equal in magnitude but opposite in sign
C. reciprocal to each other
: : h
D. intheratiom:n ao%(,"cfe,,f of P < H)C ”C - "
m f - N - Y
n M +7
" <
" 2 67|
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The coefficients of x™ and x", where m and n are positive integers, in the

expansion of (1 + x)™*" are

A. equal

B. equal in magnitude but opposite in sign
C. reciprocal to each other

D. intheratiom:n
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The natural number 61° - 51 is

/0
A. aprime number (H'b‘) - 5

B. an even number

1)

y 0
1+ @ + ’DCZ (5)* + "’Cg (5) + .. ,'CID(F) - 5/

51 + 51('”% () 4 - IDC10[5)7 -5

52( i )
\

o{fvfgfé/e /v 25 3 a/so dfvf!fé/e éd‘ 5 .

C. divisible by 5

"

D. apowerof3
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The natural number 61° - 51 is

A. aprime number
B. an even number
C. divisible by 5

D. apowerof3
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What is the coefficientof x3 in(3-2x)/(1+3x)3?

A. 272 3-4% . (3-20)(1+31)7
B. - 540 (14 31)°

- 7 -3
e (3-21)(-3Cb (sx)o t _BC, (31)’ t _3_22‘ (1) + (3] + )

D. -918
e R )
3 x2

//

. -q70(3) - lo& = -4/ 0 - fog
- =918
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What is the coefficientof x3 in(3-2x)/(1+3x)3?

A. =272
B. -540
C. -870

D. -918
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If n is even, then the middle term in the expansion of (x2 + —)

is 924x° , then n is equal to

A 10 (1£+ _i/-)n nurober 07[ Ferms = h+) = Ddcf
B. 12 hiddle Term = (nH) 'l — n+g
3 4
C. 14 .,
) ) T)-—_'_ni (_L_ b/z - -;?— "'/
D. None of these 2’-’-7‘/ - Cﬂ-(ﬂ’) I)
- 4 /\ wmfarmj /omm o
L S 6 =1 9.
- = —’ Z"/L
- n
(n —2—){(3). —
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If n is even, then the middle term in the expansion of (xz + %) is 924x5 ,

then n is equal to

A. 10
B. 12
C. 14

D. None of these
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If the 4" term in expansion of (gx - i) is independent of x,

2X
then n is equal to /
n 9 n-r _.3_ r
A. 5 L/ = G (71) A1
mndependent of 1
B. 6 »-3 . (e f__
7‘ = h( J ('_g.) z A _/'3
C. 9 4 3 ’5) 2/ ot e
—_— \—‘"’X = X
D. None of these
N-6 =0

n-==6

—
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n

. : 2 3\"., . :
If the 4t" term in expansion of (Ex - —) is independent of x, thenn is

2x
equal to

A. 5

B. 6

C. 9

D. None of these
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If in the expansion of (1 + x)", the coefficient of rt" and (r + 2)th

term be equal, then r is equal to

T
7 - (1)
A. 2n Y C.,\__, T, - DCH/ (x)”/
B. (2n+1)/2
" M
G n/2 Cr»/ ) Cn/
D. 2n-1/2
n/ _ nl oy (re)l] = (»-ru)(n-r)

(,,-7417{(%-/)0/ (n—r—l){ (rfl){
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(rH)fr) = (h-r-H)Cn-r)
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If in the expansion of (1 + x)", the coefficient of rt" and (r + 2)t" term be

equal, then ris equal to

A. 2n
B. (2n+1)/2
C. n/2

D. 2n-1/2
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1
In the expansion of (x3 + —2) then the term containing x% is
X

A. 70x* ¢ NV R
THI ) C'r ( ) 11)
B. 60x*
§ Y _9v _gy
C. 56x4 - Cr X
D. None of these
¢ g
AY - &y =
G, (1 7
2 5y = 30 7
/9/)(?55/)‘5\__11/ - ?‘OZV

H VBN )
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1
In the expansion of (x3 + —2) then the term containing x% is
X

A. 70x°
B. 60x*
C. 56x4

D. None of these
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The total number of terms in the expansion of

(x + a)190 + (x — @) after S|mpI|f|cat|on will be

A. 202 (KM)n (Zn +W 'r(nC l (a)-f o "C a"

B. 51 (x_a)") =\ y ma) 4 73( Z» L(a)+ o ”C a”

4_.—-—--——'—"'_—'

+ I

C. 50 (all even forme Il be c,ance//eaf)

Q

D. None of these
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The total number of terms in the expansion of (x + a)1% + (x — a)0°

after simplification will be

A. 202
B. 51
C. 50

D. None of these
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1 — 2
What is the coefficient of x* in the expansion of ( x) ?

1+x
A. -16 (I-X)l (’“.x) -2

B. 16
C. 8
D. -8
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1 — 2
What is the coefficient of x* in the expansion of ( x) ?

1+x
A. -16
B. 16
C. 8
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What is the term independent of x in the expansion of (1' + x4+ 22%) (3""2

(5

A.

B.

D.

1/3
19/ 54
1/4

No such term exists in the expansion

(<)

C

14

2
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What is the term independent of x in the expansion of (1 +x +2x°) (

A. 1/3
B. 19/54
C. 1/4

D. No such term exists in the expansion
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Foralln €N, 2% - 15n - 1 is divisible by

A. 125 " - 150 -
C. 450 -

n Y/
= " (m)t (15)+ - C, (73
D. None of these 2

- /fz( i ,,,,.-)

divicrble Li 228
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Foralln €N, 2% - 15n - 1 is divisible by

A. 125
B. 225
C. 450

D. None of these
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What is the number of terms in the expansion of

(@a+b+c)",nEN? (a+(6+c))
A. n+1 ._)_;
B. n+2 (’4 1 3)

C. n(n+1) - hC '+ 7) ’(é+c Q" z(é’”)

D -

D. (n+1)(n+2)/2

"
+ an a"'3(6+6)3+ - - - Cn(é*__c_)

\/

> tRF3 (’H/)

[(n+1)(rr2)
|

s
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What is the number of terms in the expansionof (a+b +c)",n€N?

A. n+1
B. n+2
C. n(n+1)

D. (n+1)(n+2)/2
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If (1-x+x3)"=a,+a,x+a,x?+... +a,x*", then

a,+a,+a,+..+a,, isequalto

A. (3"+1)/2
B. (3"-1)/2
C. (1-3")/2

D. 3" + 1/2
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If(1-x+x*)"=a,+a,x+a,x*+..+a,x*", thena,+a,+a, +... +a,,is

equal to

A. (3"+1)/2
B. (3"-1)/2
C. (1-3M/2

D. 3" + 1/2
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